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2. D6 WPa 2.63| 2.88
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X, Y
-11
-11
D6
-2
DT-B-01 | x< v =z
RURO 22.5 | 22.5 | 46.8 '
Rurl 15.2 [ 14.4 | 36.4 < ® DT-B-01, x00 ||
RuR2 16.2 | 15.1 | 34.6 | L£20 o DT-B-01,y0 O 1)
Rur3 13.1114.2133.4] o v DT-B-02, x0 0O
RuR3" 11.5]13.1 [ 33.0 | O v A DT-B-02,y0 O
Run4 | 12.0]12.5[30.6| O * 5 4
RUR5 12.5|11.8 [ 33.8 | T10 ° g
RUR6 8.8| 7.2[29.9| 2 o v . 1
(]
DT-B-02 | < v z O
Rual | 20.6 | 20.4 | 42.8 7=60, 280, 500
Rury2 20.3 ]| 22.3 | 44.5 0o 10 2I 5 30 ! ! !
Rum2" | 15.4 [ 13.8 | 39.2 0000000000y (10° rad)
Rua3 | 15.2 | 13.6 | 39.6 970, 1000mm
RuR3" | 14.8 | 13.4 | 39.5 -11
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RUR5 14.3 [ 12.2 [ 38.1
RUR6 13.0 | 11.5 [ 37.9
RuR7 7.3| 6.4]32.4
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DT-B-01 Run0 | RunRl | RuR2 | RuiR3 [RuR3® | RuR4 | RuR5 | RuRé DT-B-02 Rurl | RuR?2 [RurR2®| Ruad |Rui3d®| Rui4 | Ruib | Run6 | RunR?
|0 <taso[Gal| -1512 | -165 | 384 | 460 | -735 | -1162 | -1617 | -1678 | [0 a==[Gal]| 143 | 933 | 256 | 484 | 1063| 1005 1499 | -1950] -1551
|0 ase[Gal| -499 | -151 | -518 | 761 | -906 | -1171 | -1554 | -1726 | [0 s [Gal| -122 | -836 | -171 | 341 [ -740{ 973[-1198 [ -2096] -1886
|0 ase[Gal| 1537 | -105 [ 321 | 515 721 | 996 | -985| 635 Zase[Gall| 85| 839 181 375 | 777 712] 1050] 1385[ 941
§>bg8d§] -2.32| -0.55 1.82 2.29 | -2.72 2.50 2.80| -1.89 Emgadé] -0.39|-2.29| -0.46| 1.07 2.18] 2.66| 3.46| 4.05| -2.42
v se[ued<]| -10.76 | -0.67 | -2.18 2.46 | -4.29 | -5.84 7.14| -7.65| |3 yas=e[md<]| -0.50| 3.25| -0.76| 1.44| -4.22| 3.69] 6.47| 8.04 1.87
}mgadé] 2.10 0.08 | -0.25 | -0.35 0.55 0.59 1.03 0.91 72bga'd§] -0.10| 0.53| 0.18] -0.22 0.52 0.57| 0.77|-1.17| -0.79
| O >acp[Gal | -1094 | 287 | -549 | -720 | -1018 | -1465 | -1941| 1752 || O >#cp[Gal | -456 | -853 | -358 | -535 | -1187| -1356 | -1780 | -1902| -2101
| O vacp[Gal] | -564 | -237 | -629 | 1072 | 1700 | 1797 | 2307 | -2448 | [ O vacp[GaW | 376 | -712 | 338 | 650 | -1077| 1376 1709 | -2164] -2966
m% -2498 | 250 | -669 | 969 | 1350 | 1726 | 1905 1490 ML%! -182 | 1152 | 285 | 650 | -1786] -1395| 2104 | 2190| 1435
B >aplE 1] -7.37] -1.82 8.86 | 10.41 | 14.30 | 14.53 16.77(-17.63 | | B >tpo[E 1[-2.99|-7.97| -1.70| 4.22 8.62(-11.75| 12.71)| 18.78| 16.80
B)l:p[ﬂ'dg] -19.54 2.15 5.25 | -6.55 | -9.82 | 12.19 | -16.04[ 13.98| (3 vap[ed<2]| 3.45| 9.66| 3.68| -5.64[-12.13(-12.15(-15.19] 17.03|-14.76
[3 Ap[eds] 5.56 0.44 1.48 | -1.93 | -3.01 3.27 5.08 4.02| |3 zp[ed<$]|-0.30| 1.79] 0.55| 1.50| -2.80| -2.63] 4.07| -4.65 5.54
Uk [nm] 1.520| 0.351| 0.767| 1.209| 1.863| 2.704| 4.288| 8.806 Uk [nm} 0.249(-0.953|-0.470[-0.721|-1.761{-2.132|-2.991(-4.901| 18.941
Uy [nm) -0.443| -0.259| 0.858| -1.383 | -2.499 [ -2.765| -4.246|15.215 Wy/[nm} -0.216|-1.004|-0.451|-0.878| 1.437| 2.113| 3.028| 5.135|-26.349;
Lz [nm) 1.048| 0.240| 0.420| 0.724| 4.121| 1.248| 1.894| 3.715 Lz [nm) 0.018| 0.620] 0.200[ 0.385| 0.814{ 0.925| 1.297 - -
-0 <[0.001mad| -0.435| 0.122| 0.749| 0.929| 3.502| 1.540| 1.964| 4.131(|-6 >x<[0.001mad|-0.109(-0.673| 0.179| 0.471| 0.843[-1.036|-1.272; - -
0 v[0.001mad| -1.544| 0.225| 0.488| 0.677[-4.070| 1.759| 2.644|-2.140|| 6 y[0.001wrad [-0.138[-0.909(-0.280] 0.516|-1.087| 1.126| 1.805 - -
0 =[0.001mad| -0.071| -0.056 | -0.171| 0.327| -0.554| 0.804| -1.156| 4.262|| 6 =[0.001wad| 0.030[ 0.189| 0.081] 0.156| 0.386|-0.518| 0.609| 1.548| 10.786
Y x[0.001maq]| 1.345|-0.218| 0.472| 0.712|-1.097| 1.620| 2.699| 6.635]||Yy ><[0.001wadl| 0.145|-0.530|-0.312|-0.436[-1.138|-1.454[-2.101|-4.901| 18.941
Y v[0.00lrad| 1.065|-0.180| -0.501| -0.845| -1.651|-2.067 | -3.104|11.559 | |y v/[0.001wacy|-0.138|-0.573|-0.342|-0.588| 0.993| 1.491] 2.143| 5.135[-26.349
Ub< [ 0.671| 0.084| 0.188| 0.272| 0.499| 0.682 -0.644|-0.652 Ub< [nmj -0.028|-0.430[{-0.177|-0.297(-0.536[-0.554[-0.763 - -
Uby[nn] -0.743| 0.059| 0.289| 0.367| 0.555[-0.802| 0.712]|-0.542 Uby/[nm} -0.022| 0.294|-0.104|-0.200{-0.367|-0.481[-0.631 - -
Q<[ K] 733 -192 368 482 682 981 1300 | -1173 Q<[ K] 306 571 240 358 795 908 | 1192 | 1274| 1408
Qy K] 378 159 422 -718 | -1139 | -1204 | -1545 1639 Qy K] -252 477 | -227 | -435 721| -922|-1145| 1450| 1987
Nz K] 2213 825 1052 1306 1561 1813 1933 1655 Nz K] 757 | 1429 848 | 1092 1836| 1588 | 2067 | 2125( 1619
Tz [W M -622 -49 -166 216 338 -366 -570 -451 Tz [W M 34 | -200 -62 | -168 314 295 | -456 521| -621
a, ue Yy ub h=s= «p
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